Supporting Information
SAS Code used to analyze data presented in the manuscript:
DATA vineweevil;
INPUT PlantNumber AMF$ VineWeevil$ Block TotalLeafLength1 TotalLeafLength2 TotalLeafLength3 TotalLeafLength4  TotalLeafLength5 LeafWeight RootWeight TotalBiomass RootAucubin RootCatalpol RootTotalIR ShootAucubin ShootCatalpol ShootTotalIR SectionsScored AMFhyphae Arbuscules Vesicles Spores;

ltotplt=log(1+TotalBiomass);
rtsht=LeafWeight/RootWeight;
lrtsht=log(1+rtsht);
lRTlIR=log(1+RootTotalIR);
lSTlIR=log(1+ShootTotalIR);
SCatAuc= ShootCatalpol/ShootAucubin;
lSCatAuc=log(1+SCatAuc);
RCatAuc= RootCatalpol/RootAucubin;
lRCatAuc=log(1+RCatAuc);

lTlLf1=log(1+TotalLeafLength1);
lTlLf2=log(1+TotalLeafLength2);
lTlLf3=log(1+TotalLeafLength3); 
lTlLf4=log(1+TotalLeafLength4);
lTlLf5=log(1+TotalLeafLength5);

pAMF=AMFhyphae/SectionsScored;
apAMF=arsin(sqrt(pAMF));

run;

proc glm data=vineweevil; 
class Soil Block  VineW ;
model lRCatAuc lSCatAuc ltotplt lrtsht lRTlIR lSTlIR apAMF =Block  Soil VineW Soil*VineW RtWt;

lsmeans Soil VineW Soil*VineW Block /stderr;
  means Soil VineW Soil*VineW Block/tukey lines;

run;

proc corr data=vineweevil;
var TlLf5;by VineW;
  with Biomass;
run;

proc logistic simple data=vineweevil;
proc glm data=vineweevil; 
class Soil Block  VineW;
model lTlLf1 lTlLf2 lTlLf3 lTlLf4 lTlLf5= 
Block  Soil VineW Soil*VineW  /nouni;
repeated time /summary printe;

run;

